

## DENSITY ESTIMATION FOR LINEAR PROCESSES

KAMAL C. CHANDA

(Received Nov. 5, 1981; revised Oct. 30, 1982)

### Summary

Let  $X_1, \dots, X_n$  be random variables forming a realization from a linear process  $X_t = \sum_{r=0}^{\infty} g_r Z_{t-r}$  where  $\{Z_t\}$  is a sequence of independent and identically distributed random variables with  $E|Z_t|^t < \infty$  for some  $\epsilon > 0$ , and  $g_r \rightarrow 0$  as  $r \rightarrow \infty$  at some specified rate. Let  $X_1$  have a probability density function  $f$ . It is then established that for every real  $x$ , the standard kernel type estimator  $\hat{f}_n(x)$  based on  $X_t$  ( $1 \leq t \leq n$ ) is, under some general regularity conditions, asymptotically normal and converges a.s. to  $f(x)$  as  $n \rightarrow \infty$ .

### 1. Introduction

Let  $X_1, \dots, X_n$  be a set of identically distributed random variables (r.v.) with a common distribution function (d.f.)  $F$  and let us assume that  $F$  admits a probability density function (p.d.f.)  $f$  at some point  $x$ . If  $f(x)$  is not known it can be estimated by using kernel type density estimators  $\hat{f}_n$ . Several important properties of such estimators have been derived in the past (for a bibliography see Rosenblatt [4] and Wegman [6]). In most of these cases, however, the r.v.'s have been assumed to be mutually independent. Recently, attempts have been made to extend these results to other than independent r.v.'s. Rosenblatt [3] has derived some interesting results about  $\hat{f}_n$  for  $X_t$ 's forming a Markov sequence. Similar results exist (Ahmad [1]) for  $X_t$ 's forming a  $\phi$ -mixing process. Delecroix [2] has derived the central limit theorem for  $\hat{f}_n$  when  $X_t$ 's form a  $L_2$ -mixing process.

The aim of the present paper is to extend these results for  $X_t$ 's when they form a linear process defined by

---

\* Research was supported in part by the Air Force Office of Scientific Research Grant No. AFOSR-81-0058.

AMS 1980 subject classifications: Primary 62F12; secondary 62M10.

Key words: Kernel type density estimators, linear processes, central limit theorem, almost sure convergence.

$$(1.1) \quad X_t = \sum_{r=0}^{\infty} g_r Z_{t-r}$$

where  $\{Z_t\}$  is an innovation process consisting of independent and identically distributed (i.i.d.) r.v.'s, and the convergence in (1.1) is in some probability sense. Most of the important stochastic process models such as the autoregressive (AR) schemes, and the mixed autoregressive moving average (ARMA) schemes are linear processes. The primary use of density estimation is possibly its application to discriminant analysis. In fact, the density estimates may be used to derive some sample based classification rules when the observations in the sample form a linear process. In such cases it will be interesting to find out if these estimates behave in a manner similar to those based on i.i.d. observations.

In the present paper we concentrate on the one-dimensional p.d.f.  $f$  and study the properties of  $\hat{f}_n$  defined in (2.1). We plan to deal with estimators of p.d.f.'s of more than one-dimension in a subsequent article.

## 2. Probability density estimate and its asymptotic property

We define the estimator  $\hat{f}_n(x)$  of  $f(x)$  by

$$(2.1) \quad \hat{f}_n = \hat{f}_n(x) = n^{-1} \sum_{i=1}^n \phi(x - X_i; r_n)$$

where  $\{r_n\}$  is a sequence of real numbers such that  $r_n \rightarrow 0$ , but  $nr_n \rightarrow \infty$  as  $n \rightarrow \infty$ ,  $\phi(y; r_n) = r_n^{-1} \phi(y/r_n)$  ( $-\infty < y < \infty$ ) and  $\phi$  is a nonnegative Borel function which satisfies the following condition.

A. (i) For every real  $y$ ,  $\phi(y) < M$  where  $M$  is used as a generic symbol which denotes a finite positive constant independent of  $n$ , (ii)  $\int_{-\infty}^{\infty} \phi(y) dy < \infty$ , (iii)  $\lim_{y \rightarrow \pm\infty} y\phi(y) = 0$ , and (iv) for every real  $a$ ,  $\int |\phi(y+a) - \phi(y)| dy \leq M|a|$ .

B. Further assume that if  $\varphi_0$  denotes the characteristic function (ch.f.) of  $Z_1$  then

$$\int_{-\infty}^{\infty} |u\varphi_0(u)| du < \infty.$$

C.  $E(|Z_1|^\epsilon) < \infty$  for some  $\epsilon > 0$ , and if  $\epsilon \geq 1$  then  $E(Z_1) = 0$ .

D.  $\sum_{k=0}^{\infty} k|g_k|^\beta = O(v^{-\theta})$  for some  $\theta > 0$ , where  $\beta = \epsilon/2$  if  $\epsilon \leq 1$  and  $\beta = 1/2$  if  $\epsilon > 1$ .

Define

$$(2.2) \quad T_n = (nr_n)^{1/2}(\hat{f}_n - f_n)$$

where  $f_n = f_n(x) = E(\phi(x - X_1; r_n))$ . We then have the following

**THEOREM 2.1.** *Let conditions A, B, C and D hold with  $\{r_n\}$  chosen as above. Then as  $n \rightarrow \infty$*

$$(2.3) \quad \mathcal{L}(T_n) \rightarrow \mathcal{N}(0, \sigma^2)$$

where  $\sigma^2 = f(x) \int_{-\infty}^{\infty} \phi^2(u) du$ .

In order to prove this theorem we need to establish a few lemmas. We first set

$$(2.4) \quad Y_t = r_n^{1/2}(\phi(x - X_t; r_n) - f_n(x)).$$

Note that  $Y_t$  does, indeed, depend on  $n$ ,  $Y_t = Y_{tn}$ .

**LEMMA 2.2.** *Let the conditions of Theorem 2.1 hold. Then*

$$(2.5) \quad \sum_{v=1}^{\infty} |E Y_1 Y_{1+v}| \leq M r_n^\lambda$$

for some  $\lambda \in (0, 1)$ , where  $M$  is used here and subsequently as a generic symbol which denotes a finite positive constant, independent of  $n$ .

**PROOF.** Let  $X_{i+v}^* = \sum_{r=0}^{i-1} g_r Z_{i-r}$  and let the d.f. of  $X_{1+v}^*$  be denoted by  $G_v$ . It is then easy to see that

$$(2.6) \quad G_v^{(s)}(y) \leq (2\pi)^{-1} \int_{-\infty}^{\infty} |u^s \varphi_0(u)| du < M \quad (s=0, 1),$$

for every real  $y$ . Let the conditional expectation of  $\phi(x - X_{1+v}; r_n)$  given  $X_{1+v} - X_{1+v}^* = y$  be denoted by  $J(y)$  and let

$$c_n = \max_{|v| \leq \eta_n} J(y), \quad d_n = \min_{|v| \leq \eta_n} J(y), \quad \eta_n = \eta_n(v) = \left( \sum_{k=0}^{\infty} |g_k|^p / r_n \right)^{1/(1+\delta)},$$

where  $\delta = \varepsilon$  if  $0 < \varepsilon \leq 2$  and  $\delta = 2$  if  $\varepsilon \geq 2$ . Then by (2.6) we have that

$$(2.7) \quad 0 \leq d_n \leq c_n \leq M, \quad 0 \leq c_n - d_n \leq \min(M, M\eta_n).$$

Now set

$$(2.8) \quad \begin{aligned} I &= E(\phi(x - X_1; r_n) - f_n)\phi(x - X_{1+v}; r_n), \\ I_1 &= E(\phi(x - X_1; r_n) - f_n)\phi(x - X_{1+v}; r_n) W_v \\ I_2 &= I - I_1 \end{aligned}$$

where  $W_v = 1$  if  $|X_{1+v} - X_{1+v}^*| \leq \eta_n$  and  $W_v = 0$ , otherwise. Note that since  $\phi(x - y; r_n) \leq M r_n^{-1}$  for every real  $x, y$ ,  $f_n \geq E\phi(x - X_1; r_n) W_v = f_n - E\phi(x -$

$X_1; r_n)(1 - W_v) \geq f_n - Mr_n^{-1}Q_v$  where  $Q_v = P(|X_{1+v} - X_{1+v}^*| > \eta_n)$ . Also  $d_n(1 - Q_v) \leq E J(X_{1+v} - X_{1+v}^*)W_v \leq c_n$ . Therefore

$$(2.9) \quad -(c_n - d_n)q_n - Md_n r_n^{-1}Q_v \leq I_1 \leq (c_n - d_n)f_n + d_n f_n Q_v.$$

Similarly we can show that

$$(2.10) \quad |I_2| < Mr_n^{-1}Q_v$$

and hence from (2.7), (2.9), (2.10) and the facts that  $f_n \leq M$ , and  $r_n \rightarrow 0$  as  $n \rightarrow \infty$  we have for sufficiently large  $n$  that

$$(2.11) \quad |E Y_1 Y_{1+v}| = r_n |I| \leq M(r_n \eta_n + Q_v).$$

Now observe that  $E |X_{1+v} - X_{1+v}^*|^{\beta} \leq M \sum_{k=v}^{\infty} |g_k|^{\beta}$  by Theorem 2 in von Bahr and Esseen [5]. Therefore,  $Q_v \leq M \sum_{k=v}^{\infty} |g_k|^{\beta} \eta_n^{-\delta}$ . It follows immediately that the right side of (2.11) is  $\leq Mr_n^{\lambda} \left( \sum_{k=v}^{\infty} |g_k|^{\beta} \right)^{1/(1+\delta)} \leq Mr_n^{\lambda} \sum_{k=v}^{\infty} |g_k|^{\lambda}$  where  $\lambda = \beta/(1+\delta)$ . Since  $\lambda \geq \beta$ ,  $\sum_{v=1}^{\infty} \sum_{k=v}^{\infty} |g_k|^{\lambda} \leq \sum_{k=1}^{\infty} k |g_k|^{\lambda} < \infty$  by condition  $D$ . The result (2.5) follows easily.

LEMMA 2.3. *Let the conditions of Theorem 2.1 hold. Let  $\{m_n\}, \{t_n\}$  and  $\{k_n\}$  be sequences of positive integers such that (i)  $k_n = [n/(m_n + t_n)]$  and as  $n \rightarrow \infty$ , (ii)  $m_n, t_n, k_n \rightarrow \infty, t_n/m_n \rightarrow 0$ , (iii)  $m_n/(nr_n)^{\gamma} \rightarrow 0$  for some  $\gamma (0 < \gamma < 1/2)$  and (iv)  $m_n^{-1} n^{1-\beta/2} r_n^{-\beta/2} t_n^{-\theta} \rightarrow 0$ . Write*

$$(2.12) \quad \begin{aligned} U_j &= n^{-1/2} \sum_{t \in A_j} Y_t, \\ V_j &= n^{-1/2} \sum_{t \in B_j} Y_t, \quad 1 \leq j \leq k_n \\ W &= n^{-1/2} \sum_{t \in C} Y_t \end{aligned}$$

where  $A_j = \{\alpha_{j-1} + 1, \dots, \alpha_j - t_n\}$ ,  $B_j = \{\alpha_j - t_n + 1, \dots, \alpha_j\}$ ,  $C = \{n - d_n + 1, \dots, n\}$ ,  $\alpha_j = j(m_n + t_n)$ , and  $d_n = n - k_n(m_n + t_n)$ . Then as  $n \rightarrow \infty$

$$(2.13) \quad \mathcal{L} \left( \sum_{j=1}^{k_n} U_j \right) \rightarrow \mathcal{N}(0, \sigma^2),$$

and

$$(2.14) \quad \sum_{j=1}^{k_n} V_j + W \rightarrow 0 \text{ in probability,}$$

$\sigma^2$  being defined as in (2.3).

PROOF. Let  $\varphi^{(j)}$  denote the ch.f. of  $U_1, \dots, U_j$  and let  $\varphi_j$  be the ch.f. of  $U_j$ . Then

$$(2.15) \quad \left| \varphi^{(k_n)}(u, \dots, u) - \prod_{j=1}^{k_n} \varphi_j(u) \right| \leq \sum_{j=2}^{k_n} |\varphi^{(j)}(u, \dots, u) - \varphi_j(u) \varphi^{(j-1)}(u, \dots, u)|.$$

Now set  $N_j = \exp\left(iu \sum_{r=1}^{j-1} U_r\right) - \varphi^{(j-1)}(u, \dots, u)$ ,  $P_j = \exp(iu U_j)$ ,  $P_j^* = P_j - E(P_j | \mathcal{N}_j)$ , where  $\mathcal{N}_j = \sigma\{Z_{\alpha_{j-1-t_n+1}}, \dots, Z_{\alpha_{j-t_n}}\}$  ( $2 \leq j \leq k_n$ ). Since  $E(P_j | \mathcal{N}_j)$  is independent of  $N_j$  and  $E N_j = 0$ , the  $j$ th summand on the right hand side of (2.15) is equal to

$$(2.16) \quad |E N_j P_j| = |E N_j P_j^*| \leq (E |N_j|^2)^{1/2} (E |P_j^*|^2)^{1/2} \leq M (E |P_1^*|^2)^{1/2}.$$

Again we can write  $P_1 = h(X_1, \dots, X_m)$  ( $m = m_n$ ) where  $h(y_1, \dots, y_m) = \exp\left(iu \sum_{t=1}^m g(x - y_t)\right)$ ,  $g(w) = n^{-1/2} r_n^{1/2} (\phi(w; r_n) - f_n(x))$ . This implies that

$$(2.17) \quad E |P_1^*|^2 \leq E |h(R_1 + W_1, \dots, R_m + W_m) - h(R_1 + W_1^*, \dots, R_m + W_m^*)|^2$$

where  $R_j = \sum_{r=0}^{t_n+j-1} g_r Z_{j-r}$ ,  $W_j = X_j - R_j$  ( $1 \leq j \leq m$ ) and  $(W_1^*, \dots, W_m^*)$  is an independent copy of  $(W_1, \dots, W_m)$  and is also independent of  $R_1, \dots, R_m$ . Note that  $(W_1, \dots, W_2)$  is independent  $R_1, \dots, R_m$ . Again since  $|\exp(ia) - 1|^2 \leq M|a|^{2\beta}$  for every real  $a$ ,

$$(2.18) \quad \begin{aligned} & |h(y_1, \dots, y_m) - h(y_1^*, \dots, y_m^*)|^2 \\ & \leq M |u|^{2\beta} n^{-\beta} r_n^{-\beta} \sum_{j=1}^m |\phi((x - y_j)/r_n) - \phi((x - y_j^*)/r_n)|^{2\beta} \end{aligned}$$

for any real  $y_t, y_t^*$  ( $1 \leq t \leq m$ ). Therefore, by (2.17), (2.18), condition A, the fact that  $E |X|^{2\beta} \leq E^{2\beta} |X|$  for any r.v.  $X$  and that  $E |W_j|^{2\beta} \leq M \sum_{k=\ell_n+j}^{\infty} |g_k|^{2\beta}$  we have the relation

$$(2.19) \quad \begin{aligned} (E |P_1^*|^2)^{1/2} & \leq M |u|^\beta n^{-\beta/2} r_n^{-\beta/2} \sum_{j=1}^m E^{1/2} |W_j - W_j^*|^{2\beta} \\ & \leq M |u|^\beta n^{-\beta/2} r_n^{-\beta/2} \sum_{j=1}^m \sum_{k=\ell_n+j}^{\infty} |g_k|^\beta \\ & \leq M |u|^\beta n^{-\beta/2} r_n^{-\beta/2} \sum_{k=\ell_n+1}^{\infty} k |g_k|^\beta. \end{aligned}$$

Conditions D and (i), (ii), (iv) in Lemma 2.3 will, therefore, imply that the right hand side of the inequality in (2.15)

$$(2.20) \quad \leq M |u|^\beta n^{-\beta/2} r_n^{-\beta/2} k_n t_n^{-\theta} \rightarrow 0$$

as  $n \rightarrow \infty$ . Therefore, in order to derive the asymptotic distribution of  $\sum_{j=1}^{k_n} U_j$  we can assume that the  $U_j$  ( $1 \leq j \leq k_n$ ) are i.i.d.r.v.'s. Let  $\alpha = 2\gamma/(1-2\gamma)$  where  $\gamma$  is defined as in condition (iii) of Lemma 2.3. Now note that  $E |Y_1|^{2+\alpha} \leq M r_n^{1+\alpha/2} E ((\phi(x - X_1; r_n))^{2+\alpha} + (f_n)^{2+\alpha}) \leq M r_n^{-\alpha/2}$ .

Hence

$$(2.21) \quad E |U_1|^{2+\alpha} \leq Mn^{-1-\alpha/2} m_n^{2+\alpha} r_n^{-\alpha/2} .$$

Again for sufficiently large  $n$ ,

$$(2.22) \quad E U_j^2 = n^{-1} m_n \left( E Y_1^2 + 2 \sum_{v=1}^{m_n} (1-v/m_n) E Y_1 Y_{1+v} \right) \geq \sigma^2 n^{-1} m_n / 2$$

by Lemma 2.2 and the fact that

$$E Y_1^2 = r_n E \phi^2(x - X_1; r_n) - r_n f_n^2 = \sigma^2 - r_n f_n^2 \rightarrow \sigma^2 \quad \text{as } n \rightarrow \infty .$$

(2.21) and (2.22) and condition (iii) in Lemma 2.3 will, therefore, imply that

$$(2.23) \quad k_n^{-\alpha/2} E |U_1|^{2+\alpha} / (E U_1^2)^{1+\alpha/2} \leq M(n r_n)^{-\alpha/2} m_n^{1+\alpha} \\ = M(m_n / (n r_n))^{1+\alpha} \rightarrow 0 \quad \text{as } n \rightarrow \infty .$$

Hence the Liapaunov condition for the central limit theorem holds and (2.13) follows immediately. Now observe that since  $k_n m_n / n \rightarrow 1$  as  $n \rightarrow \infty$ ,  $n^{-1}(k_n t_n + d_n) = 1 - k_n m_n / n \rightarrow 0$  as  $n \rightarrow \infty$ . Consequently

$$(2.24) \quad E \left( \sum_{j=1}^{k_n} V_j + W \right)^2 \leq n^{-1} (k_n t_n + d_n) \left( E Y_1^2 + 2 \sum_{v=1}^{\infty} |E Y_1 Y_{1+v}| \right) \\ \leq Mn^{-1} (k_n t_n + d_n) \rightarrow 0, \quad \text{as } n \rightarrow \infty$$

and the result (2.14) follows.

Now since  $T_n = \sum_{j=1}^{k_n} U_j + \sum_{j=1}^{k_n} V_j + W$  the result (2.3) is a direct consequence of (2.13) and (2.24). Theorem 2.1 is thus established.

Let  $\phi(u) = \int \exp(iuy) \phi(y) dy$  and let  $\phi$  be the ch.f. of  $X_1$ . Then assume that the following condition holds.

E. For some  $q > 0$ ,  $\lim_{u \rightarrow 0} (1 - \phi(u)) / |u|^q = k_q$ ,  $|k_q| < \infty$  and  $\left| \int_{-\infty}^{\infty} \exp(-iux) \cdot |u|^q \phi(u) du \right| < \infty$ .

**THEOREM 2.4.** *Let the conditions of Theorem 2.1 and condition E hold. If, additionally,  $\{r_n\}$  is such that  $n r_n^{2q+1} \rightarrow 0$  as  $n \rightarrow \infty$ , then as  $n \rightarrow \infty$ ,*

$$(2.25) \quad \mathcal{L}(n r_n)^{1/2} (\hat{f}_n - f) \rightarrow \mathcal{N}(0, \sigma^2) .$$

**PROOF.** Note that as  $n \rightarrow \infty$ ,

$$(f_n - f) / r_n^q = (2\pi)^{-1} \int \exp(-iux) ((\phi(r_n u) - 1) / |r_n u|^q) |u|^q \phi(u) du \rightarrow \\ -(2\pi)^{-1} k_q \int e^{-iux} |u|^q \phi(u) du .$$

This implies that  $(nr_n)^{1/2}(f_n - f) \rightarrow 0$  as  $n \rightarrow \infty$ , and, therefore, (2.25) will, now, follow immediately from (2.3).

It is necessary to establish that the sequences  $\{m_n\}$ ,  $\{t_n\}$  and  $\{r_n\}$  can, indeed, be chosen such that the conditions on  $\{r_n\}$  and (i)-(iv) in Lemma 2.3 will hold. If we take  $t_n = [n^a]$ ,  $m_n = [n^b]$  and  $r_n = n^{-c}$  then for given  $q, \epsilon$  (which determines  $\beta$ ) and  $\theta$  we have the following constraints on  $a, b$  and  $c$ . (i)  $(2q+1)^{-1} < c < 1$ , (ii)  $0 < a < b < \gamma(1-c) < 1$  (note that  $0 < \gamma < 1/2$ ), and  $\theta a + b + \beta(1-c)/2 > 1$ . It is easy to see that a sufficient condition for these constraints to hold is that  $\theta > 1 + q^{-1}$ .

### 3. Almost sure convergence

We shall now establish the following

**THEOREM 3.1.** *Let the conditions of Theorem 2.1 hold. In addition, assume that (i)  $r_n \downarrow$  and for some  $\alpha$  ( $0 < \alpha < 1/2$ )  $n^\alpha r_n \rightarrow \infty$ , (ii) for every  $p > 1$ ,  $k(1 - r((k+1)^p)/r(k^p)) \rightarrow a$  finite constant as  $k \rightarrow \infty$ , (iii) for every  $a, b$ ,  $0 < b < a < 1$ ,  $\int |\phi(t) - a\phi(at)| dt \leq Mb^{-1}(1-a)$  where  $M$  is independent of  $a$  and  $b$ , (iv)  $\int |u|^s |\varphi_0(u)| du < \infty$  ( $s=0, 1, 2$ ). Then as  $n \rightarrow \infty$*

$$(3.1) \quad \hat{f}_n \rightarrow f \text{ a.s.}$$

as  $n \rightarrow \infty$ .

**PROOF.** Note that since  $f_n \rightarrow f$  as  $n \rightarrow \infty$ , it is sufficient if we establish that  $\hat{f}_n - f_n \rightarrow 0$  a.s. as  $n \rightarrow \infty$ . We can write  $\hat{f}_n - f_n = S_{nm}/n$  where  $S_{nm} = \sum_{t=1}^n (\phi(x - X_t; r_m) - f_m)$ . Let  $n_k = [k^p]$  where  $p$  is any number  $\in ((1-\alpha)^{-1}, \alpha^{-1})$ ,  $\alpha$  being as given in (ii) above and  $k=1, 2, \dots$ . Then since  $E Y_{1n}^2 \leq M$  and (2.5) holds we have that  $V(S_{n_k n_k}/n_k) = E(\sum Y_{t n_k})^2/n_k^2 r_{n_k} \leq M(n_k r_{n_k})^{-1} \leq M k^{-p(1-\alpha)}$  by condition (i) above. Hence

$$(3.2) \quad S_{n_k n_k}/n_k \rightarrow 0 \text{ a.s.}$$

as  $k \rightarrow \infty$ . Let  $n$  be any integer. Then  $n_k \leq n < n_{k+1}$  for some  $k$  and if we set  $C_k = \max_{n_k \leq n < n_{k+1}} |S_{nn} - S_{n_k n}|$ ,  $D_k = \max_{n_k \leq n < n_{k+1}} |S_{n_k n} - S_{n_k n_k}|$  then

$$(3.3) \quad |S_{nn}/n| \leq |S_{n_k n_k}/n_k| + C_k/n_k + D_k/n_k.$$

It is easy to show that

$$E C_k^2/n_k^2 \leq \sum_{n=n_k}^{n_{k+1}} E \left( \sum_{t=n_k+1}^n Y_{tn} \right)^2 / n_k^2 r_n \leq \sum_{n=n_k}^{n_{k+1}} (n - n_k) / n_k^2 r_n.$$

Again we can conclude from condition (ii) above that  $r_n/r_{n_k} \rightarrow 1$  as  $k$

$\rightarrow \infty$ . Therefore  $E C_k^2/n_k^2 \leq M(n_{k+1}-n_k)^2/n_k^2 r_{n_k} \leq M k^{p\alpha-2}$ . Since  $p < \alpha^{-1}$  we have that

$$(3.4) \quad C_k/n_k \rightarrow 0 \text{ a.s.}$$

as  $n \rightarrow \infty$ . Similarly from (3.6) below we conclude that  $E D_k^2/n_k^2 \leq \sum_{n=n_k}^{n_{k+1}} E (S_{n_k n} - S_{n_k n_k})^2 \leq M(n_{k+1}-n_k)(r_{n_k} - r_{n_{k+1}})/n_k r_{n_k}^2 \leq M k^{p\alpha-2}$ . Therefore

$$(3.5) \quad D_k/n_k \rightarrow 0 \text{ a.s.}$$

as  $k \rightarrow \infty$ . (3.1) now follows easily from the results (3.2)–(3.5).

LEMMA 3.2. *Let the conditions of Theorem 3.1 hold. Then*

$$(3.6) \quad E (S_{n_k n} - S_{n_k n_k})^2 \leq M(r_{n_k} - r_{n_{k+1}})n_k/r_{n_k}^2.$$

PROOF. The proof follows details similar to those in Lemma 2.2. First note that  $S_{n_k n} - S_{n_k n_k}$  is the sum of  $n_k$  terms. The expectation of the sum of squares term in  $E (S_{n_k n} - S_{n_k n_k})^2$  can easily be shown to be less than or equal to  $n_k E (\phi(x - X_1; r_n) - \phi(x - X_1; r_{n_k}))^2 \leq r_n^{-1} \int (\phi(t) - \gamma_k \phi(\gamma_k t))^2 \cdot f(x - r_n t) dt \leq M r_n^{-1} (1 - \gamma_k) n_k \leq M(r_{n_k} - r_{n_{k+1}})n_k/r_{n_k}^2$  where  $1 \geq \gamma_k = r_n/r_{n_k} \geq r_{n_{k+1}}/r_{n_k} \rightarrow 1$  as  $k \rightarrow \infty$  by virtue of conditions (i)–(iv) above. If we now replace  $\phi(x - X_1; r_n)$ ,  $\phi(x - X_{1+v}; r_n)$  and  $f_n$  in the expression for  $I$  in (2.8) by  $\phi(x - X_1; r_n) - \phi(x - X_1; r_{n_k})$ ,  $\phi(x - X_{1+v}; r_n) - \phi(x - X_{1+v}; r_{n_k})$  and  $f_n - f_{n_k}$  respectively then by routine analysis and following the same sequence of arguments as led to (2.11) and eventually to (2.5) we can establish that the expectation of the sum of the cross products in  $E (S_{n_k n} - S_{n_k n_k})^2$  is  $\leq M(r_{n_k} - r_{n_{k+1}})n_k r_n^2 / r_{n_k}^2$ . The result (3.6) will then follow immediately.

TEXAS TECH UNIVERSITY

### REFERENCES

- [1] Ahmad, R. (1977). Strong consistency of density estimation by orthogonal series methods for dependent variables with applications, *Technical Report*, McMaster University.
- [2] Delecroix, M. (1977). Central limit theorems for density estimators of a  $L_2$ -mixing process, *Recent Developments in Statistics* (ed. J. R. Barra et al.), North Holland Publishing Co., Amsterdam, 409-414.
- [3] Rosenblatt, M. (1970). Density estimates and Markov sequences, *Nonparametric Techniques in Statistical Inference* (ed. M. Puri), 199-210.
- [4] Rosenblatt, M. (1971). Curve estimates, *Ann. Math. Statist.*, **42**, 1815-1842.
- [5] von Bahr, B. and Esseen, C. G. (1965). Inequalities for the  $r$ th absolute moment of random variables  $1 \leq r \leq 2$ , *Ann. Math. Statist.*, **36**, 299-303.
- [6] Wegman, E. J. (1972). Nonparametric probability density estimation, *Technometrics*, **14**, 533-546.